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Algebra 1

5-1 Solving by Graphing
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Solve each system by graphing.

1)  y = 3
y = x + 4
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2)  y = -
1
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3)  y = 
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4)  y = -3
y = x - 4
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5)  y = 2x + 1
y = -x + 4
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6)  y = -x + 3
y = 2
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7)  0 = -x + 3 - y
y + 8x = -4
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8)  3 + y = -
2

3
x

8x + 18 = 6y

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5



©M G2t0L1u7X xKLultran pSAoBfjtpwma^riel nLNLaCo.O H EADlhlS lrCiAgJhhtesl Qr]ets[eNrcvoeqdc.v w jMTaLdueG BwJiptXhv \Iqnffiikn_ittNeE QAJlCgfeIb`roaD K1h.

Worksheet by Kuta Software LLC

-3-

9)  2y - 4 = -x
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10)  -x = 
1

2
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y

3y + 3x = 6
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11)  6 + 3x = 2y
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12)  
5
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y = 1

1 = -y - x
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13)  -3y = 6x + 6
0 = 3y + 2x - 6
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14)  2x = 3y + 12
9 - 3y = 5x
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15)  1 + y = x
y + x - 3 = 0
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16)  -2 + y = 4x
-6x - 3y = 12
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